Day 7_Section_6.2_Solving_Equations_by_Balance day 4.notebook February 15, 2019

Curriculum Outcome

PR1: . Generalize a pattern arising from a problem-solving
context using linear equations and verify by substitution.

PR3. Model and solve problems using linear equations of the
form:

ax=b;=b,a#0;ax+b=c;+b=c,a#0;=b, x# 0 ax ax xa
ax+ b =cx +d; a(bx + c) =d(ex +f); a(x + b) = c; ax =b+cx

concretely, pictorially and symbolically, wherea, b, ¢, d, e, and f
are rational numbers

EXTENSION to unit: Solving equations with fraction in them

Student Friendly: “Rearranging an equation to get all the variables
by themselves”. Taking care of a fraction.
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3. Sheila 1s charged a tare of $27.70 for a cab
ride to her friend’s house. The fare is
calculated using a flat fee of($2.50, plus|
$1.20 per kilometre. What distance did
Sheila travel?

a) Let k kilometres represent the distance
travelled. Write an equation to solve the

problem. Solve the problem.
b) Verify the solution.

AT FO = L.50 v \.2o0XK
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4. An isosceles triangle has two equal sides of
length 2.7 cm and perimeter 7.3 cm.

=s® st
Elﬂmj j_pfb:msdﬂ.? X
23~ 173 = 54+ X

a) Write an equation that can be used to
determine the length of the third side.

b) Solve the equation.

¢) Verify the solution.
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5. S-::l;:e each equation, Verify the solution.
a) 3= —1.5
by 10.5 =38 — 125
g S(x—7.2) = 14.5
dy 8.4 = 125
& 2+ =28

) —8=0432+h
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1. Solve each equation. Verify the solution.

B 2= -35a%0

by 5w — 118 = 6w
¢ —8z+ 11 = —10 — 5.5z

& 0.2(5 — 2r) = 0.3(1 — £
f) 129+ 23y = 4.5y + 19.5

9 = (m+4) =2 (3m +9)
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8. Skateboards can be rented from two shops

in a park C=15+ 2\
Shop ¥ charges $15 plus 33 per hour

Shop Z charges 312 plus 34 per hour

=134+
Determine the time in %urs for which the

rental charges in both shops are equal.

a) Write an equation to determine the time,
b} Solve the equation.

& Verify the solution.

15+23R = X +4



Day 7_Section_6.2_Solving_Equations_by_Balance day 4.notebook February 15, 2019

waa Worksheet 1 e

Variables Both Sides Per/Sec. Date

H' 3-. e

] by — 10 = Dy 2] o= G 2
] Ip + 2 Ilp 1] D — 3 = —
iy == 2y i ) L ! G — 12
] 4 15 = 3m + 3 8] ] ! i1 |
9] by —1 = 6o+ 2 L) Bo0 =T a4 8
L1 S+ 15 = Gz —13 12 Tw—10 = 6w —T
13) Af4+5=2f=34f l4] O+ T — 3Ju=8-+4+5u—11
1) op+2—3p=8+4p—0 G Sy —1 =Ty = T—10hy—15
17 940 —14=8—nag—G+dn 18]y +8)=Tiy+2)
19 420 —2) = =2(]1 —5Ha) 200 6i4—37) = =2i3j —5)
21) 3lg—5)+8g= 18— (3 — 1Uyg] 22 18 —{2a—-3)—2{la+2) =3a+5
I D 2 .
230 =6 — 15uw) —{ 4l — B 240 —=(Gr+9) —(1r =2
3 = 3 2
. . , 2 _ ; 5 3
25)  —=(30 + 18k) — 45— 1ak) 26 10— =k —h =
} 3 <) g
3 | 2
T —y 10— —y 2B) 4—cm=_-m
| o ok _:'
26p—1) TG =30
29) J—J SpH M) ——— e =L+ Db
5 &
A1) 1204 206 = G.se 327 0.Td =512 = (LAd 4 285

33 030 4004 = 0n + 0.7 — 050 M) 04 (4E = 0.9) = 010k +0.9)
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Math 9

Variables Both Sides

Solve.

20

31

ly — 10 = 3y

Ip+2=11p
Tr—5=2r—+5
Tm4+15=3m+3
lr—1=6r+2

dz+ 15 =06z —13
If+5-2f=3f
hp+2—-3p=8+4p—-6
O+Gao—14=8—a—-06+4a

H2a —2)= =2(1 — Ha)

Jg—5)+8g— 18— (33— 10g)

. 3,
—(6 — 15w) = —(dlhw — 5)
3 =

5, 2,
—— (30 + 18k} = =(45 — 15k)
i 3

—y = 19 — —
Tikd 57

2(5p —1)

= dp+1
3 P
[2c + 2.6 = 6.8c

0.3n + 0.4 = 0.6n +0.7T=10.5n

Name

P L"'l‘_,"; Sec, Date

6] la+2=6a—12

8 9r4+4="Tr+1

1) 3a—-—7T7=a-+=8

12) Tw—06=06w-—-7

[4) 6Gu+7—3u=8+5u—11
G} Y9y —1—Ty=7—>6y—15
18) 4y+8)="Ty-+2)

200 6{4 —37) = =2(35 — 5)

22 18 —(2a—=5)—2(a+2)=3a+5

2 [
247 —(6x + 9 = =10z — 2]
3 2

5 3
2%) 10—<2h—"h—¢
8 R

2 [
281 d— —m = —m
3 2
TS = 3e) _
) ———— = —hc+ i
)

32) 0.7d =512 = 0.5d + 288

34 0404k =09y =0.1(k+0.9)

12
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Worksheet 2

Distribution Per/Sec. Date

1] by —9) — Ly = 0 2] —Mzr 404+ 29 = —10
A 22=5b4Tih=2) 1) —=19—06{w—8) =35
o) BT = 22 =Tk +3) G) Am+06im—-2) =12
Tl —llid—n)—mn —iil) ®] 15+ %y —5) 15
9) G4 2(dn 4 1) = =5 I =30 =20 + 28 — ]
11 55450 7] =1 12 13 W=Tr—31—2X
2 |
13 —={Gz — 151 —4 1] 14) 4 —(12 2] b
o o]
i —_
o1 - . . -
15 —,'_:' — 0] +1 ] LR S — T =03 1
ok
17T)  —Ju— (Hu 4+ T -2 12 (G =9 —(2n =19 =0
2 |
19 —18= —(7—2a) —(a+12) 200 =21 4 3a) + 6=+ a) —15
J J | | J 5 |
3 2

2 | l
21 1= —2) — =(30— Hr) = —11 22) SAr+1)+ {2r—5) = —
2 0 3 i

28 T2—w)=3e+114+318— 4 —2r) 1= M) =21 =3yl =3 2 +yl =5 +3y—4)= 13
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Worksheet

Solve for the variable

Variables on each side
&

Distribute
&

14
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Math 9 Name

Equations ax + b = ¢ Per/Sec. Date
Solve.
1. —2z4+51=-3 2. 17=17 - 32p
3. -39 = —18w — 21 4. —14t +7 =49
5. —95 — 658 =25 6. —8 = —4r — 13
7. —14d + 15 =21 8. —111 =9a — 12
9. 0=_+8 0. 3=4_ 1
4h 12
11. 16+ — =16 12. 15=7+4 -2
9 7
1 11
13. 0=10k — = 14, — —1by=—
5 12 8
2m 2 2 1
15. 0= — — — 16. — ——-r =2
9 3 5 5
Lo Ta 41 s L5 1
"6 T3 3 - 29737 %
3 5k 1
19. — —= — — — 20. —1.5d—13.5=0
2 7 4
21. 3p—6=-0.6 22. —bdu—0.4=-0.05
23. —1.6s—04=—-10 24. 2.7= —4.84+0.01b
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Math 9 Equations ax + b = ¢ JMH Math Dept. 11/13/2008

Answer List

1. 27 2. 0
3. 1 4. -3
5
5. —20 6. -2
7. -3 8. —11
9. -16 10. 5
11. 0 12.
1 1
13. & 14. —=
15. 3 16. —12
17. % 18. -3
19. 1 20. —9
21. 1.8 22. —0.07
23. 6 24. 750
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Math 9

Variables Both Sides

Solve.

27)

29)

31)
33)

4y — 10 = 3y

dp+2 =11p
r—5=2r+5
Tm+15=3m+3

dr —1 =6z +2

324+ 15 =62z —-13
4f+5—-2f =3f
5p+2—-3p=8+4p—6
94+6a—14=8—a—6+4a
4(2a — 2) = —2(1 — 5a)

3(g—5) +8g = 18 — (3 — 10g)

1 3
5(6 — 15w) = §(40w —8)

5 2

—2(30 + 18k) = = (45 — 15k)
6 3

3 1

2 u=19 =

107 57

2(5p — 1
%—3p+1

12¢ 4+ 2.6 = 6.8¢
0.3n +0.4=0.6n+0.7—0.5n

Name
Per/Sec. Date
2) 5—3w=2w
4) br—3=-=x
6) 4a+2=6a—12
8) Ir+4="Tr+4
10) 3a—T7=a+38
12) Tw—-6=6w—7
14) 6u+7—3u=8+5u—11
16) 9y —1—-T7y=7—6y —15
18) 4(y+8)=T7(y+2)
20) 6(4 —37) = —2(3j — 5)
22) 18— (2a—5)—2(a+2)=3a+5
24) (67 +9) = ~(10z — 2)
3 2
) 3
2%6) 10— ~h=-h—6
8 8
2 1
28) 4—-m=—-m
3 2
7(15 — 3¢
30) T5=3¢) _ 4.1
8
32) 0.7d — 512 = 0.5d + 288
34) 0.4(4k —0.9) = 0.1(k 4+ 0.9)





Math 9

Answer List

1. 10
2
3. 7
5 2
7. -3
3
9. —3
28
1. =
13. 5
15. 0
7
17. 1
19. —3
21. 30
1
23. 1
25. —11
27. 38
29. 5
31. —0.5

33. 1.5

Acces format version 3.60B
© 1997-2003 EducAide Software
Licensed for use by Evan Hardy cOLLEGIATE

Variables Both Sides JMH Math Dept.

o O B~ N
Ml;@\]l\’)l»—')—l

12. -1
14. 5
7
16. I
18. 6
7
20. I
22. 2
24. 7
26. 16
24
28. 4
30. —3
32. 4000
34. 0.3

11/17/2008
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Math 9

Distribution
Solve.
1) 4(y—9)—10y=0
3) 22=5b+7(b—2)
5 57=22-T7(k+3)
7)) —11(4—n)—n=-60
9) 6a+24a+1)=-5
11) 554+53x+7)=0
2
13) —§(6z—15)—4z:0
1

15) §(2m—5)+1:4
17) =3u—(bu+7)=-2
19) —18=—(7—-2a)— (a+12)

1 2
21) 10(zz —2) — =(30 — 5z) = —11

2 5
23) 7(2—z)—3(zx+1)+3[9—(4—22)]=18

Name
Per/Sec. Date
2)  —3(z+5)+29=—10
4)  —19—6(w — 8) = 35
6) 2lm+6(m—2)=12
8) 48+ 9(y — 5) =48
10) 305 - 2t)+28=1
12) 13 =4(—7r —3) — 2r
1
14) do+ (120 +2) =3
16) (84— 7) 63 =0
18) (61— 9) — (2n —19) = 0
2 1
20) g(21+3a)+6(§+a) =—15
22) S(r41)+~(2r —5) = —1
3 (7 o (2r =
24) —2(1-3y)—3[(2+y) —5]+3(y—4) =13
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Math 9 Distribution JMH Math Dept. 11/17/2008

Answer List

1. —6 2. 8
3. 3 4. -1
8

5. -8 6. 3
7. -8 8. 5
9. -1 10. —2
11. —6 12. -2
5 1

13. 2 14. 1
15. 7 16. —7
17. —58 18. —3
19. 1 20. —4
21. 3 22. —3

23. 2 24. 3
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